ZERO GRAVITY

Each sub-puzzle is a cryptarithm, where each digit is replaced by a different letter. The unwritten rules about how they interact were:

- The mapping from letters to numbers is not necessarily consistent between sub-puzzles.

- The mapping is consistent in places where sub-puzzles overlap: the overlaps contain the same numbers mapping to the same letters.

- Because of the arbitrary rotations, N and Z are indistinguishable despite standing for different digits. The messy implications of this
were limited to sub-puzzles 7 and 10, which in fact have a unique solution except for arbitrarily swapping two 2s and two 4s.
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To extract the answer, you find what letter stands for 0 in each puzzle in order. You get MAGNETOSPHERE.
Or MAGZETOSPHERE, or WAGNETOSPHERE... but those aren't words.



